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(% B AIAER)

X % B = M= B & %8 "k &
ARER BakELE
BiEERKE
EEAGE [FHREEA 41.28
EIREDB 61.78
AREC 98.38
H
EiEYaE —= EEAGE X %
INEE
E Y]
BEEXEKE
XEEEE —= EEEFEEX %
INET
REEHRE
E %1
—REEE —= E(BEMX %
(E3 EREET) INET
BREAHER
BHSRER —=HK
roEmER@EmE) | —T
INGT
H 3,896,000| FH L&
& § 3,896,000




(EBHIAER)
X % B = = B & & % &
BRER BEKREE
BEKBEE 2Fn 3,896,000 7,792,000
N F 7,792,000
H B M 779,200 R & E75E X 10%

8,971,200




yiE HWEKREE
X % I#E B BIREA BREB HBiREC &t

i-ti

1. ROBEER 19.48965 20.06544 39.77694 79.33203

2. RUSNDBEER 12.18033 12.18033 2484261 49.20327

3. KELERF 4.88478 5.40192 10.2867 20.5734

4—1. KROEEFR 473194 9.48004 10.28808 2450006

5. CHINE 0 0 13.19472 13.19472

7. B ERE R 0 14.6574 0 14.6574

41.2867 61.78513 98.38905 201.46088

R 41.28 61.78 98.38 2015
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X & IHE 16 2[& &t
KEER—IL BWEK 227 0 227
EHE-REE WEHK 246 264 510
EHRE-REE ik HE PR 275 0 275
ER T WEHK 200 0 200
BT fiHE PR 0 0 0
fEFr WEHK 44 36 80
HE =17 0 0 0
R EX WEHK 0 864 864
&t 992 1,164 0 0 0 2,156
BHAIR 122
Esras 4,790 4,790
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AREA AREB AfREC
X % =] AfREH B{r
B! 5 it 5 B! &t
1. ZEH—IL 227 B 2 [@E [1o0m-[El| 227 m.~100m x 102 [|] £ X 0000 | 227 m.”100m X 102 [@] /£ x 0.000 | 227 m.”100m X 102 [8]  4E X 0.000
510 B 1 @\ [1o0om-[E| 510 m.”100m x 51 [B] /& x 0.000| 510 m.”100m X 51 [A /& x 0000 510 m.”100m X 51 [B] /& x 0.000
2. ERE-REBE
275 B 1 [ [1o0m:E| 275 m.”100m X 51 [Al /& x 0.000| 275 m.”100m x 51 [A] /£ x 0.000| 275 m.”100m x 51 [Al /& x 0.000
3. FF 200 @ 2 [@ [100Om:-E| 200 m.”100m X 102 [@] / 4E x 0000 200 m.”100m X 102 [@/ 4 x 0.000 | 200 m.”100m X 102 [@]. 4 X 0.000
4. ERRRURER 80 B 2 [@E [100m-[E 80 m.100m X 102 @ £ X 0.000 80 m.”100m X 102 [@] /4 x 0.000 80 m.”100m X 102 [8] 4 X 0.000
5. ZHE 0
6. FEER 864 B 2 [@ [100m:El| 864 m.”100m X 102 [@], £ X 0.000| 864 m.”100m x 102 [A] /£ x 0.000| 864 m.”100m x 102 [@] /£ x 0.000
B 2,156 19.490 20.065 39.777




2. RSO BE BT

mEA mEB wmEC
X % IE H AREAR| B
itOE & it OB H it B H

1. ZEHR—IL 227 m |58 2 [E [100m-E| 227 m.”100m X 102 B/ £ x 0.000 [ 227 m.~100m X 102 [B] /£ x 0.000 [ 227 m.”100m X 102 [A] /£ x 0.000
2. ERE-2EBE 785 mi |8 1 [@ [100m-@E| 785 mi.~100m x 51 [E]. £ x 0.000| 785 m.”100m x 51 [@]. £ x 0.000 | 785 m.”100m x 51 [@. £ x 0.000
3. BBF-R—IL 200 m 3@ 2 @ (100m-[E| 200 m.~100m X 102 [B] /£ x 0.000 [ 200 m_.”100m X 102 [A] 74 X 0.000 [ 200 m.”100m X 102 [B] /4 x 0.000
4. ERT RV SEERT 80 m |58 2 [E |100m-[H] 80 m.”100m x 102 [B] /£ x 0.000 80 m.”100mx 102 A4 x 0.000 80 m./100mx 102 [@ /4 x 0.000
5. ZHE 0 m 0 0 0
6. FEER 864 m |8 2 [E [100m-[E]| 864 m.”100m X 102 B/ £ x 0.000 [ 864 m.”100m X 102 [B] /£ x 0.000 [ 864 m.”100m x 102 [B] /£ x 0.000

H 2,156 m 12.180 12.180 24.843




3. M [EHFiE

AfREA HiREB AREC
X % IE H BEER| B4
B! B B! B B! i
1. ZBH—IL 227 m |8 2 [8 [100m-[E]| 227 m.~100m X 102 [@]4F % 0.000| 227 m./100m x 102 [@], 4 % 0.000| 227 M. ~100m x 102 [@, 4 % 0.000
2. 8T 200 m |38 2 B [100m-[El| 200 m.~100m X 102 [B] /£ x 0000 200 m.~100m X 102 [B] /£ x 0000 | 200 m.~100m X 102 [| £ X 0.000
3. ERT R WNEmERR 80 m | @ 2 [[@ |[100m-[H] 80 m.”100m X 102 [B] 7 £ x 0.000 80 m.”100m X 102 [A] /£ x 0.000 80 m.”100m X 102 [ /£ x 0.000

5 507 m 4.885 5.402 10.287




4—1. ROEHER

AREA AREB AfREC
X 2 IE H AREE B
! 5 ! Hi B! Hi
1. ZEH—IL 227 m| 6548 1 [@ [100m-E]| 227 m.~100m X 2@, % x 0079|0359 | 227 m.”100m X 2@ % x 0160] 0726 | 227 m.”100m X 2@ % x 0174 ] 0.790
2. BEBE-SEE 510 m | 648 1 [@ |[100m-E]| 510 m.~100m X 2@ % x 0064]| 0653 510 m.”100m X 2@ Fx 0127] 1295 510 m.~100m X 2@ Fx 0139 1418
3. BB F-7r—JL 200 m| 6548 1 [@ |100m-E]| 200 m.”100m X 2@ % x 0069 0276 200 m.”100m x 2@ Fx 0.138| 0552 200 m.”100m x 2B % x 0.150 | 0.600
4. ERFRUSEEAT 80 m | 648 1 [ |[100m-[@ 80 m.”100m X 2B Fx 0.144| 0.230 80 m.”100m X 2@ HFx 0288 0461 80 m.”100m X 2@ Fx 0312 0499
5. ZHE om 0 0 0
6. fEE% 864 m | 648 1 [@ |100m-[E| 864 m.”100m X 2@ % x 0186 | 3.214| 864 m.”100m X 2@, % x 0373] 6445| 864 m.”100m X 2@ % x 0404 | 6.981
5 1881 m 4732 9.480 10.288
4—2. KRDTEREH M)
X 2 IE H ERER =i B! B wE
EHRE-BFE 275 m £ 1 [@ 275 m 1 @& x

B 275 m 50,325




Vs IE H BEER| B4
25 wWE 2156 m |38 2 [@ |[100m-[H] 0.000 0.000 | 2,156 m.~100m X% 102 [@] /£ % 0.000
B 2,156 m 0.000 0.000 13.195
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7. EMHEiEE
AREA BIREB AREC
X & I A EIREH ==X ]
i+ OE H i+ OE 5 H o= £
1. BYINERERT 4790 m |58 1 [E [100m-[@ 0.000 | 4,790 m.~100m x 51 [B] /4 x 0.000 0.000
0.000
it 4790 m 0.000 14.657 0.000
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AREB 475
AfREC 5.64
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s HiEeE
X % I# H BRREA FiREB BiREC &t

=t

1. RO BEER 0 14.15199 0 14.15199

2. RSO BEFER 0 19.41213 0 19.41213

3. XEFRF 0 12.33792 0 12.33792

4—1. KOEHFR 0.80182 1.60152 1.74532 4.14866

5. CTHINE 0 0 3.89844 3.89844

7. BSERE R 0 0 0 0

0.80182 47.50356 5.64376 53.94914

& F 0.80 47.50 5.64 53.94




EER HiEfE
X & 16 2[ H
ZER—IL 98 0 08
EHE-2E=E 189 123 312
ERE-SBE 84 49 133
ER T 21 0 21
ER T 0 0 0
{EFrT 36 27 63
IR E 0 0 0
B E% 10 0 10
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1. KO BEER

AfREA HiREB AREC
X % H B BEER| B4
B! ) B! ) B! i

1. ZBEHR—IL BEK 98 m |58 2 @ [100m-[H 0.000 98 m.”100m x 102 [@], 4 % 0.000 0.000
BB 312 m|:# 1 [/ [100m-[E 0.000| 312 M.~ 100m x 51 [@] /4 X 0.000 0.000

2. ERE-SEBFE
MR 133 m [ @ 1 [B [100m-[A 0.000 133 m.~100m x 51 [Bl./ % X 0.000 0.000
3. T BEK 21 m|3@ 2 [ |[100m-[E 0.000 21 m./100m X 102 [A] /4 x 0.000 0.000
HiiE R 0 0.000 0 0.000 0.000
4. EFRRUxEAT [EEEK 63 m | 2 B [100m- [ 0.000 63 m.”100m X 102 @], £ x 0.000 0.000
5. GIHE BEK om 0.000 0 0.000 0.000
6. FEEX EN=R7 10 m|:@ 2 B [100m-[A 0.000 10 m.~100m X 102 [A] /£ x 0.000 0.000
¥ 637 m 0.000 14.152 0.000




2. RSO BE BT

HREA AmEB ARmEC
X % I#E H AREAR | B
it B 5 itOE B EL &
1. XER—IL 98 m |8 2 [E [100m:-[A 0.000 98 m.”100m X 102 [A] /£ x 0.000 0.000
2. EBE-2EBE 445 m |58 1 [@ |[100m [ 0.000 | 445 m.100m x 51 B4 x 0.000 0.000
3. BT -R—IL 21 m|@ 2 [E [100m-[E 0.000 21 m.100m x 102 [a] 74 % 0.000 0.000
4. BRI RV SERT 63 m | 3@ 2 [@ |100m-[ 0.000 63 m.~100m x 102 [E]. 74 x 0.000 0.000
5. mhE 0 m 0.000 0 0.000 0.000
6. PEER 10 m|[3@ 2 [@ [100m:-[H 0.000 10 m.~100m x 102 [A]. /£ x 0.000 0.000
B 637 m 0.000 19.412 0.000




3. KEER

AREA AREB AfREC
X % IHE B BEEH =ivd
i+ OE ¥ it OE ¥ it B N
1. ZEHR—IL 98 m |3@ 2 [@ [100m:-[@ 0.000 98 m.”100m x 102 [B] /4F x 0.000 0.000
2. R F 21 m |8 2 [@E [100m:-[E 0.000 21 m.~100m X 102 [B]. £ x 0.000 0.000
3. ERTRURERT 63 m |8 2 [@ |100m-[H 0.000 63 m.”100m X 102 [@] /& x 0.000 0.000
4. GHE 0o m 0.000 0.000 0.000

% 182 mi 0.000 12.338 0.000




4—1. ROEHFH

X % 15 H AREE B
! 5 ! Hi B! Hi
1. ZEH—IL 98 m| 658 1 [@ [100m-[g 98 m.”100m x 2 [@ 4 x 0.000 98 m.”100m x 2 @4 % 0.000 98 m.”100m x 2 [|@, 4 x 0.000
2. BEBE-SEE 312 m| 6548 1 [@ [100m-E]| 312 m.”100m X 2 @4 x 0.000| 312 m.~100m X 2 @4 % 0.000| 312 m.”100m X 2 @4 x 0.000
3. BB F-7r—JL 21 m| 6548 1 [@ |[100m:[E 21 m.”100m x 2 [B] /4 x 0.000 21 m./100m X 2 [B] /& x 0.000 21 m.”100m x 2 [l /& x 0.000
4. ERFRUSEEAT 63 m| 658 1 [@ [100m-[H 63 m.”100m x 2 @4 x 0.000 63 m.”100m X 2 B4 % 0.000 63 m.”100m X 2 B4 % 0.000
5. ZHE Om|658 1 [B [100m-[g 0 0.000 0 0.000 0 0.000
6. BEEX 10 m| 658 1 [B [100m-[H 10 m.~100m X 2 [B] /4 x 0.000 10 m.~100m X 2 [B] /& x 0.000 10 m.~100m X 2 [@] /4 x 0.000
B 504 m 0.802 1.602 1.745
4—2. KRDTEREH M)
X % IE H ERER =i B! B wE
1. ZEA—IL om
2. BHRE-REFE 133 m £ 1 @ 133 m 2 @] 4 x EEERP8Y2 20124108

133 m
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5. CHINE
AREA AREB AfREC
X % IHE B BEEH Bi {1
i+ OE ¥ it OE ¥ B! B
1. Eiig- 2R 1HE 637 m | B 2 [B |[100m-[m 0.000 0.000| 637 m.~100m X 102 [@] /& x 0.000
it 637 m 0.000 0.000 3.898
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7. EMHEiEE
AREA BIREB BREC
X & I A EIREH BT
i+ OE H i+ OE 5 H o= £
1. BYINERERT m|@ 1 @ |[100m-E 0.000 0 m./100m x 51 [B] /4 x 0.000 0.000
0.000
it om 0.000 0.000 0.000




